OUTDOOR / WALL WASHER /
WALLLIGHT / WALLLIGHT (OWO03) Item code 86.0W03.4021.03 LAVOV

LI GHTING

b d

! B b d

i - -y

w M3 include screw
1. Drill two holes in the wall 2. Loosen the M3 machine screws,
or floor according to the adjust the distance between the
hole size of the support, and two supports, and then lock the
put glue plugs or wood SCTews

blocks into the holes.

I 1
I 1

-
et

[y

- wooden screw L.

3, Attach the light fixture to the wall or floor with wood screws.

CONNECTOR: CONNECTOR:
P&7 IP&7
. i L e
1
3 -] I ’
- =) Em
1 I

LAVOV info@lavovlighting.com | lavovlighting.com

LI GHTING


mailto:info@lavovlighting.com
https://lavovlighting.com

OUTDOOR / WALL WASHER /
WALLLIGHT / WALLLIGHT (OWO03) Item code 86.0W03.4021.03 LAVOV

LI GHTING
4, Align the power cable connector with the power cable connector of
the lamp and connect it to the card position.

M4 screw

5. Loosen the M4 cup screw of the support, adjust the Angle of the lamp and
then lock the screw

LAVOV info@lavovlighting.com | lavovlighting.com

LI GHTING


mailto:info@lavovlighting.com
https://lavovlighting.com

